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QUESTION 1

Identify the two configurations in Supply Chain cloud applications of Product Information Management (PIM) and Order
promising (GOP), which must be set to process the Back-to-Back order with Make Supply Order, for a nonstocked item. 

A. Set the nonstocked item to be back-to-back enabled in Product Information Management (PIM). 

B. Set the global sourcing rule in GOP to determine supply creation option as Make. 

C. Set a local sourcing rule in GOP to determine supply creation option as Make. 

D. Create Supply Order Orchestration Defaulting and Enrichment Rule for the nonstocked item. 

E. Create Supply Chain Orchestration Supply Execution Document Creation Rule for the nonstocked item. 

Correct Answer: AB 

 

 

QUESTION 2

You are reviewing the production status of your manufacturing plant shop floor as a production supervisor. Your
production manager wants a report on a work order status which is reserved against a particular customer. The final
assembly of the work order is serialized. Which option shows the steps to complete the task using the mobile
application? 

A. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page > Click Actions and select the E-mail icon> Select required work orders> Select the e-mail
client, enter the recipient\\'s e-mail, and click Send. 

B. Select the infotile Customer to open the work order details page> Click Actions and select the E- mail icon> Select
required work orders>Select the e-mail client, enter the recipient\\'s e-mail, and click Send. 

C. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page> Select required work orders> Click Social icon (OSN) > Select recipient, and click Share. 

D. Search the work order by customer name to open the work order details page> Click Actions and select the E-mail
icon> Select required work orders> Select the e-mail client, enter the recipient\\'s email, and click Send. 

Correct Answer: A 

 

 

QUESTION 3

A user wants to transfer the work order status updates and resource transaction data for costed resources 

to Cost Management. 

Which scheduled process should you run to achieve this requirement? 
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A. Transfer Cost to Cost Management 

B. Transfer Transactions to Costing 

C. Transfer Ledger Balances 

D. Transfer General Ledger Balances to Balance Cubes 

Correct Answer: A 

 

QUESTION 4

As part of an implementation project, you have to perform setups related to a Manufacturing plant in Functional Setup
Manager. 

What must be set up first in order for you to configure the setup task called Manage Plant Parameters? 

A. The Supply Chain Orchestration Functional Area 

B. The Manufacturing Master Data Functional Area 

C. The Manage Items Profile Options tasks 

D. The Manage product and Child Value Sets task 

Correct Answer: B 

 

QUESTION 5

You are setting up Fusion Manufacturing to support Back-to-Back Fulfillment. Identify an option that needs to be set for
oracle Fusion Planning Central to plan back-to-back item components and resources. 

A. Select the Used in Planning check box in the new Work Definition. 

B. Select the Used in Planning check box in the Work Definition Names. 

C. Select the Used in Planning check box in the Work Structure. 

D. Select the Used in Planning check box in the item definition. 

Correct Answer: B 

 

QUESTION 6

In a manufacturing plant, the work definition and rate plans of Material, Resource, and Overhead of an assembly have
been defined as required. A cost accountant created different scenarios to represent different manufacturing and cost
assumptions and compare the results. When the cost assumptions are finalized, the cost accountant is expected to
publish the cost scenario to cost accounting. Identify three process steps that the cost accountant has to perform to
transfer the assembly to cost accounting in frozen type. 

A. Publish cost planning scenario to Accounting. 
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B. Build cost planning scenario and perform cost roll up. 

C. Create Accounting Distributions. 

D. Transfer transactions from production to Costing. 

E. Define a cost planning scenario with Material, Resource, Overhead cost plans, and work definition. 

F. Transfer Transactions from Inventory to Costing. 

Correct Answer: CEF 

 

QUESTION 7

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 

C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 

 

 

QUESTION 8

The Plant Manager informs you that they have bought several machines for their manufacturing plant ABC. The plant
has been set up with a separate cost element set ABC in Manufacturing Cloud. You are requested to configure these
machines in such a way that those are costed to the work order for which operations are performed on these machines.
Identify the correct setup that you will advise to the Plant Manager. 

A. Set up the machines as cost element type of "Resource" by selecting Cost Element set ABC. 

B. Set up the machines as cost element type of "Overhead" by selecting Cost Element set ABC. 

C. Set up the machines as cost element type of "Overhead" by selecting Cost Element set Common. 

D. Set up the machines as cost element type of "Resource" by selecting Cost Element set Common. 
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Correct Answer: D 

 

 

QUESTION 9

The production user wants to report Work Order completion. Identify two ways of reporting the progress of work order at
work order operation level. 

A. Change Move status to Ready. 

B. Complete using quantity completion 

C. Complete with Details 

D. Quick Complete 

E. Change status of Operation to completed 

Correct Answer: CD 

 

QUESTION 10

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and 

manage work order exceptions. 

Which option shows the production exception types that can be reported by the production operator? 

A. Work Area, Work Center, and Resources 

B. Work Center and Resources 

C. Resources and Components 

D. Work Area, Work Center, Resources, and Components 

E. Work Area, Work Center, Resources, Components, and Miscellaneous 

Correct Answer: C 

 

 

QUESTION 11

A Production operator in your company is required to report production activities, such as completing or 

scrapping production units, by referencing a work definition without creating work orders. 

Identify the manufacturing transaction that a production operator can perform for reporting such activities. 
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A. Orderless Transactions 

B. Operation Transactions 

C. Resource Transactions 

D. Movement request 

E. Material Transactions 

Correct Answer: A 

 

QUESTION 12

In a Manufacturing Cloud post production support environment, a user wants to update some of the 

operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to 

update any of the orders. 

Identify two reasons. 

A. The work order operations do not have operations start or completion date. 

B. The scheduled resources are not part of the organization selected by the user. 

C. None of the operations include scheduled resources. 

D. The operations are missing sequence. 

Correct Answer: CD 

 

QUESTION 13

Identify four parameters that are considered in the calculation of manufacturing lead time in Oracle Manufacturing
Cloud. 

A. Resource calendars of the work centers involved 

B. The primary work definition of the item 

C. The lot size of the item 

D. The shifts are defined in the plant calendar 

E. Plant calendar exceptions 

F. Resource calendar exceptions 

Correct Answer: BCDF 
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QUESTION 14

Identify two conditions that should be met at the same time for a Standard Operation to be called an Optional
Operation. 

A. There are no components attached to it. 

B. The Automatically Transact check box is deselected. 

C. The Automatically Transact check box is selected. 

D. The Count Point check is selected. 

E. The Count Point check box is deselected. 

Correct Answer: BE 

 

 

QUESTION 15

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 

A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 
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